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‘Let X be the set of all citizens of India.
Elements x, y in X are said to be related
if the difference of their age is 5 years.
Which one of the following is correct ?

(a) The relation is an equivalence relation
on X.

The relation is symmetric but neither
reflexive nor transitive.

(b)
()

symmetric nor transitive.
None of the above

@

Consider the following relations from A
to B where A = {u, v, w, x, v, z} and
B={p, q,r, s} -
Lo {(w,p) (%0 (W), % 9. (D, (2 q}
2. {(u, p) (v, @), (W, 1), (2, 8)}

3. {(ws) (v, (W), (wp). v 9. (2, 9)}
4. {w g, Mp)Ws), 1), 9, (z9)}

Which of the above relations are not
functions ?

(a) 1and?2
{b) 1 and 4
(¢} 2 and 3
(d) 3 and 4

If o and B are the roots of the equation
ax? + bx + ¢ = 0, where a # 0, then
(ac + b) (a} + b) is equal to :

(a) ab

~(b) be

(c) ca

(d)

Let S denote set of all integers. Define a
relation R on S as ‘aRb if ab > ( where
a,be S Then R is:

(a) Reflexive but neither symmetric nor
transitive relation

Reflexive, symmetric but not
transitive relation

An equivalence relation
Symmetric but neither reflexive nor
transitive relation

(b)

©
(d)

The relation 1s reflexive but neither .

* 2

5.

The roots of the equation 2% — 2abx + b = 0
when a <0 and b > 0 are :.

(a) Sometimes complex

(b) Always irrational

(c) Always complex

(d) Always real

What is the sum’ of the two numbers
(11110), and (1010), ?

(a) (101000),

(b) (110000),

() (100100),

(d) (101100),

Let N denote the set of all non-negative

. integers and Z denote the set of all integers.

The function f : Z > N given by
fix)=1x}is:

(a) One-one but not onto

(b) Onto but not one-one

(c) Both one-one and onto

(d) Neither one-one nor onto

If P and Q are two complex numbers,

then the modulus of the quotient of P and

Qis:

(a) Greater than the quotient of their
moduli '

(b)

fc)

Less than the quotient of their moduli

Less than or equal to the quotient of
their moduli

(d)

Equal to the quotient of their moduli

Let z = x + iy where x, y are real variables
and i=\/—_l.If|22— 1|=}2z-2]|, then
the point z describes :
(a) A circle

(b) An ellipse

(¢} A hyperbola

(d) A parabola

(Contd.)



1.

A i 6 swa & @ AmiE @
ey X 81 X ¥ @ng x, y €eia #
wd & afe I g @ s S B
Prafofes ¥ & f9 w w2 7
(a) T ey, X T TH god oY 8|
(b) UF dag wabg & fheg 7 @ @A
? AR AR TEEE B -
(c) U8 Heg T@gew & g 7 T wulia
2 3 & o g1

(d) SHF ¥ & «g AE
AR BF Prafifug e | AR
T, @8t A= {u, v, W, X, y, 2} 3
B={p, q, 1 s}

{(w p), (% p), W, ), (5, D (%, D, P}

1.
-2 {(ui p)s (Vs q)! (W’ I'), (Z’ S)}
3.

{(,s), v, 1), ™ ), (W, p), % 9), =z q)}
4. {4, @, p)Ws), 1), 9, 2}

IR A ¥ AR gey WA Te ¢ 7
T (@) 182

b) 13T 4
(c) 233
(d) 3T 4

R afiERor ax?+ bx +c =0, %@l a =0,
$iﬂa3ﬁ“{ﬁ'§,ﬁf(aa+b)(aﬁ+b)
frs gea 2 2

(a) ab

(b) be

{c) ca

(d) abc

a1 MR S, asft e & wgewm

e F@r 21 S WX |s"g R ‘aRb, e

ab> 0,8 a, be §,d & H wRITA

2@ RAwT B 7

(a) Tged feg 7 @ wafhg X A &
LEICETNCE )

- (b) wgey, 9ala dey g @ el

(c) T way
(d) wafha =g 7 O w@gew AR T &
ThHs HEY

#122

| TAFWT 242 - 2abx + =0, 99 a < 0 3R

b>0% 7@ g ywe & & 7

() F0 Ff gfimy

(b) ®eF mfHy
(c) Weg wHAY

(d) 93T Frfes

A el (11110), 31X (1010), F1 FnTehet
faeeT & 7 Lo
(a) (101000),

" (b) (110000),

(c) (100100),
(d) (101100),

7 @R N, T wie T dEnl #
=Y F ARG @ & dR Z, af
quiel & wEEw A af| w1 2
fx)=|x| ¥ Rwm M &= f:Z >N
a8 7

" (a) THe g sreeRs AE

(b) I=BRE [~ Ths A8
(¢) Tha I I=BRF AT
(d) T @ WF IR T & I=oRF

ufe P etk Q <t wftwyw wwd &, 1 P iy
Q& v % wmiw fham & 7
(2) 37 WA B Bum ¥ el
(b) ST& FUH B fwm § FA

(¢) S AR B /e & F7 W IS
EEICEY :

(d) 373 AU & @A & T

T T z = x + iy, 981 x, y ad® =Y
TR i=J-11 3R |2z-1]|=|z-2]
T dl g zvm w0 &7

(a) I

(b) dedga

(¢) sfRETae™

(d) uREw

(Contd.)



10. The sum of an infinite GP is x and the

©

11.

12.

13.

common ratio r is such that {r | < 1. If
the first term of the GP is 2, then which
one of the following is correct ?

@ -1<x<1
(b) ~w<x<1
l<x<w

None of the above

(d)

A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not repiaced,
what is the probability that both the balls

- are black ?

2/5

1/5

1/10

None of the above

(a)
(b)
()
(@)

For two variables x and y, the two
regression coefficients are b, =-3/2 and
b, = —1/6. The correlation coefficient
between x and y is :

(a) -1/4

(b) 1/4

(c) -1/2

@ 12

The variance of numbers x, x,, x

g3 Mgy eenns -

is V. Consider the following statements :

1. If every x, is increased by 2, the
variance of the new set of numbers
is V.

2. If the numbers x, is squared, the
variance of the new set is V2

Which of the following statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

*

14.

15.

16.

17.

18.

What is the mean of the squares of the
first 20 natural numbers ?, .

(a) 151.5 AL

(b} 143.5

(c) 65

(d 72

P: q, I, s, t are five numbers such that the
average of p, q and r is 5 and that of s
and t is 10. What is the average of all the
five numbers ? :

@) 7.75
() 7.5
(c) 7
d) 5

The cumulative frequency of the largest
observed value must always be :

(a) Less than the total number of
observations

Greater than the total number of
observations

Equal to total number of observations

Equal to mid point of the last class
interval

()

(c)
(@

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins
4 times and they draw twice. A and B
take part in a series of 3 games. The
probability that they win alternately, is :
(a) 5/12 '
(b) 5/36

(c) 19727

(d) 5727

Out of 7 consonants and 4 vowels, words
are to be formed by involving 3 consonants
and 2 vowels. The number of such words
formed is :

(a) 25200 -
(b) 22500
(c) 10080
(d) 5040
(Contd.)



10. TF 3d GP &1 Tmed x & 3 @d

11.

12.

13.

yque rd@ ¥ & |r| <12 3Rk GP
&1 9uH U5 2 &, a1 frfofag § & staar
TF WE O 7

(@ -1<x<1

(b)) —o<x<1

() 1 <x <o

(d) SHw ¥ ¥ F3 A

TF 90 H 3 EHE M2 F NS F 1 QA
LK T ® W% UE e
S 81 ofe WY W YA @ A OTE s
arer, @ AAT AN D wd A A Wi
w7 2 7

(a) 2/5.

(b) 1/5

(c) 1/10

(d) STwm & & F3 T

T A xdRy D A a‘rwmw
b,=-323Tb =-1/6%1 xMy=

v weedn g;uw B 7
. (@) -1/4
(b) 1/4
) -172
@ 172
, Xpy e X TG F YEIW VB |

ﬁﬂ%ﬁiﬁﬂ:ﬁﬂﬁaﬂaﬂﬁu

. AR yAF x W 29 F, @ S
el B ey B OYE V2

2. TR wErET x w1 oA &< ¥, A AU
T F OGERT V2R

Preafafaa ot ¥/ A/ w6 8/

g7

(a) ®ad 1

(b) dae 2

() 13 2

(@ @, &2

*Lh

14.

15.

16.

17.

18.

uwzom@wﬁ%mﬁwmww
g7 .

(@ 151.5

(b) 143.5

(c) 65.

@ 72

o FE p,q 1, s, tE W ST B op,
q W F e 58, AR s ATt H A
10 21 aft uiwl wensl &1 figd F 8 7

@@ 7.75
(b) 75
(c) 7
(d) 5

gead I A AT el sTdERar @49
Far gl wew ?
(2) Jal W T Hew ¥

- (b) YEmi ® HA TEmw § IS

(c) YW P A HEW P FUNC
(d) sfom @t siqod & AeElg & g

7t AMRB @ & 12 9% @ad &, A
o5 g weT 8 fF A, 6 X Waat 8, B,
49T S 2 @K 3 Q) s Ffle w9
Z1 ASRB, 3 A = yuen ¥ w9
1 9 ard-Erd /@ WfiaR = wided
FaT B 7
(@) 5/12
{(b) 5/36
() 19727
@) 527

7wl 4w X A, 3 @k
2@%@%%@%%%
¥4 Tecl W e ¥ 7

(a) 25200
(b) 22500
(c) 10080
(d) 5040
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19. Let X denote the number of scores which

20.

21,

22.

exceed 4 in 18 tosses of a symmetrical
die. Consider the following statements :
1. The arithmetic mean of X is 6.

2. The standard deviation of X is 2.

Which of the above statements is/are
correct 7

(a) 1 only
(b) 2 only
(c¢) Both 1 and 2

(d) Neither 1 nor 2

How many different words can be formed -

by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A ?

(a) 6 ,

(b) 12

{c) 24

(d) None of the above

The sum of the series formed by the
sequence 3, /3, 1 ..... upto infinity is :

@ 343 (\2/5 +1)
) 343 («f ~1)

3(\3 +1)

© ==

) 3(+3~1)

(d 5

If |z+Z|=|z-Z]|, then the locus of z is :
(a) A pair of straight lines

(b) A line

(c) A set of four straight lines

(d) A circle '

* 0N

23.

24,

25.

26.

The number 251 in decimal system is
expressed in binary system by :

(@ 11110111 '

(b) 11111011 |

(¢) 11111101 '

(d) 11111110

What is the argument of the 60mplex
number Q__";QQ_H_) where i=+—1 ?

3—i
(@ 0

'
®) 3

i
(c) 2
T

(d) 5

Consider the following statements in respect

o1 2
of the matrix A=| -1 0 -3
-2 3 0

1. The matrix A is skew-symmetric.
2. The matrix A is symmetric.
3. The matrix A is invertible,

Which of the above statements is/are
correct 7

(a) 1 only
(b) 3 only
(c) 1and 3
(d) 2and3

\

Consider two matrices A =

— WD

2
1| and
1

1 2 -4 | :
B= 2 1 -4l Which one of the

following is correct ?
(a) B is the right inverse of A
(b) B is the left inverse of A
(¢) B is the both sided inverse of A
(d) None of the above
(Contd.)



19.

20.

21.

- ()

22.

A" A, w el a@ A 18 I
¥ 47 ate & sl N Fen #} X
Pfaa wxar &1 Freafoafea w91 w AR
CHIE L

1. X & 9H{GT 9180 6 2 |

2. X & #Fs fageq 22

IHfEd wuAl W BAE/A 9@ 8/E 7
(a) dad 1

(b) wad 2

(¢} 13 231

(d T a1, 3 82

7 AGAIN ® & ¥ @ 4 o9 Fa}
fat Al o gAT W wFd €, 3R
TAF TR AT URW B 7

(@ 6

(b) 12

(c) 24

(@) e ¥ § IR

@) 3J§(\2/§+1)

3J3(/3-1)
2

33 1)
2

3(J§—1)

(b)

(d)

R |z+Z|= |z z| @ zmﬁ—gtx‘aw
27
(a) 9 @R T g

(o) XET

(c) I §I@ T@R F GHSE
(d) g

* =]

23.

24,

25.

Trmaa TERy W denr 251, fawmard i
¥ $3 sfrERa R & 7
(a) 11110111

(b) 11111011
(¢) 11111101

~(d) 11111110

qftRs e ___(1+1)(2+1) , w8 i=+-1,
& HIUHE FT 8 ?

(a) O
i

0 3

©. "7

@ 3
01 2 .

Iegg A=| -1 0 -3| 3 ®gd #
-2 3 0

Preaffeg #uat W A SR
1. g A Rem-wafha 21

| 2. an-q;a'Amﬁﬁ%l

26.

W A SIHANE B |
3¢§W$ﬁﬁﬁw@ﬂ'§r%/%?
(a) Faa 1
(b) FaT 3
(c) 13T 3

a1 2 -4
—21_4q'{f‘a'a’r($’tﬁfﬁ|

Prefafeg & § F99 & @8 8 7
(a) A FT <0 g B8
(b) AF I yhaw BE
(c) A @ QA el F Flelw BB
(d) I & @ F TE

(Contd.)



~ 27. One of the roots of
X+a b c
a X+b ¢ |=01is:
a b x+c¢
(@) abc '
(b) a+b+c
(c) -(a+b+¢)
(d) -abc

28. If Ais any matrix, then the product AA is

defined only when A is a matrix of order
m x n where :

(8 m>n
(b)) m<n
(¢) m=n
(d m<n

29. The determinant of an odd order skew
symmetric matrix is always :

(a) Zero

(b) One

(c) Negative

(d) Depends on the matrix

30. If any two adjacent rows or columns of a
determinant are interchanged in position,
the value of the determinant :

(a) Becomes zero

(b) Remains the same

(c) Changes its sign

(d) Is doubled

For the next three (03) items that follow :
In a survey of 25 students, it was found that
- 15 had taken Mathematics, 12 had taken Physics
and 11 had taken Chemistry, 5 had taken
Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry and 3 had taken all the three
subjects.
'31. The number of students who had taken
only Physics is :
(@) 2
(b) 3
(c) 5
@ 6

©o32

33.

* 00

The number of students who had taken
only two subjects is :

(@ 7
(b) 8
() 9
@ 10

Consider the following-statements :

1.  The number of students who had
taken only one subject is equal to
the number of students who had taken
only two subjects.

2.  The number of students who had
taken at least two subjects is four
times the number of students who
had taken all the three subjects.

Which of the above statements is/are
correct 7

(@ 1 only

(b) 2only
(¢) Both 1 and 2
(d) Neither 1 nor 2

For the next three (03) items that follow :

1Y .
In the expansion of [x3 ——2J where n is a
. X

positive integer, the sum of the coefficients of
x* and x'% is 0.
34. What is n equal to ?

@ 5

(b) 10

(¢) 15

(d) None of the above

35. What is the value of the independent term ?
(a) 5005 '
(b) 7200

(¢) -5005

(d) -7200
(Contd.)



- 28.

i

x+a b ¢

a XxX+b ¢
a b X+¢

3 A ¥ A A 7
(a) abc

(b) atbt+c

(c) -(a+b+c)

(d) —abc

ufe AP aegp B, @ PrIEa AA TRona
2 g oft sEfE AR m x n FT AegE
g w8l .

(a) m>n_

(b) m<n

(¢c) m=n
(d) m<n

- 27' :0

29,
qfF weg w@T B B 7
(a) IH '

(b) T®
(c) HUIcHS
(d) g ) Pt 2

UF IRV F BE R MEET digmdl m
weil # Rafy ¥ fafaar vt G ST @
(a) I B S ®

(b) T& T e @

(c) 371 fa7s w3 a1 B

(d) A A @ @

W A e WA (03) v ¥ frg
25 Rl & wdeor A o oM B 15 R
T W 2, 127 e o @ &k 11
famme B 2, 53 W R WA
2, 93 witrg X sifed A 8, 43
mmm%ﬁt3 gt 4 e

|
31, 3 faenf¥im & d@n = 2, Reeia Fad

et ot 8 7 .

(a) 2

®) 3

) 5

(d) 6

30.

g,
A

w fawm wife fonr wafa emege @

* N0

32. 39 faenBfar =% dwm = 8, iR dad -
q fawg R 7

(@) .7

(b) -8

(¢) 9

(d 10

33. Preafafem v ) Rew ST .

1. <39 fraffs « dan, R e

. s fawm ferm g, 9 FaenRiEi &
Ter & e} g freeld e @ g
forg €1

2. 39 Bl & den Mg W R

- ww Q) fawg fore 2, 99 Rl @
wam & 9] AT 8 Reeid ash A
faomr g 81

I FwAAl B FAE/E @l 2/2 7

(a) ®ad 1

(b) FaA 2

() 13T 23

(d T @1, T 82

AN AW A o (03) wEne ® Rrg oo

(x3—;}2—J et o g s 2, 3 R A
xS AT x0F TER w4 0 B
34, nfoud qeu 8 7

@)

(b) 10

©) 15

(@ ST ¥ ¥ FR TE

35, @ UG B A W B 7
(a) 5005 |
(b) 7200
(c) -5005
(d) —7200

(Contd.)



36.

What is the sum of the coefficients of the
two middle terms ?

(@ 0

(b) 1

© -1

{(d) None of the above

For the next three (03) items that follow :
Given that C(n, r) : C(n, r + 1) =1 : 2 and
Cn,r+1):Cn,r+2)=2:3,

37.

38.

39.

40.

What is n equal to ?
{a) 11
) 12
© 13
(d 14

What is r equal to 7.
(@ 2
(®) 3
() 4
d) 5

What is P(n, 1) : C(n, 1) equal to ?
(a) 6

(b) 24

(c) 120

(d) 720

The complete solution of 3 tan’x = 1 is

.given by :

(a) x=mri~g

(b) x=n=n +§ only

T
X=nnt-—
() x=nmi-

(d x= HTC+—T6£ only

where n € Z

41.

42,

43.

G

What is the value of cos 36° ?

J5~1

@ —

J§+1
4

104245
—
J10-24/5

4

(b)
(©)

(d

Consider the following statements :

1.  Value of sin 0 oscillates between —1
and 1. ‘

2. Value of cos 0 oscillates between 0
and 1i.

Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither ! nor 2

If x and y are positive and xy > 1, then
what is tan™' x + tan™ y equal to ?

tan~l | XY

1-xy
‘n:+tan—l(x+yj
1—xy
n_tan_l(x-f-y]
1 -xy

tan—l(X—YJ
1+ xy

(a)

(b)

(©)

(Contd.)



36. W WHTEl & TN @ qor o§@w 2 7

(@ 0
® 1
‘() -1
(d) sHw ¥ ¥ 1 T

AH FX At A7 (03) wwwE & fog

fm & B Cn,n:Cn,r+1)=1:
Cn,r+1):Clm,r+2)=2:3
37. nfbed qwa 8 7
@) 11
(b) 12
€ 13
@ 14
38. ri¥Es qeg B 7
@) 2
(b) 3
(c) 4
d) s
39. P(n, 1) : C(n, r) e e 2 7
(a) 6
(b) 24
(c) 120
() 720

40. 3tanx = 1 1 Ol & T B 7

T -
=nnt—
(8) x=mm
(b) FawA x=mt+%
n
= + e
(c) x=nmi—

(d) Faa x=mr+%

T ne Z

41,

42.

cos 36° T W FT T ?

@ \/34—1 |

J§+1

4

J10+245

4

Ji0-2v5

4

(b)

(©)

(d).

Prafafen s w R A .

1. sin@®F HIF -1 3 1 & &g ¥
T FIT B

2. cosOFTAM O3 1% fiw ¥ QoA
FT 2

Safr wot ¥ ATE/A W@ AE 7

(a) Had 1

(b) Faa 2

© 13T 2@

( Fq1, T A2

43. IR x My g B 3ﬁTxy>.la}f

tan”' x + tan”! y fFwa gemw g 7

A x+y
@ (1 = XYJ

(Contd.)



44,

45.

46.

Consider the following statements :

.2 1% 2..1%] .
l.  n|sin“67= -sin“22— |[>1 for
2 2
all positive integers n > 2.
2. Ifxis any positive real number, then
nx > 1 for all positive integers n > 2.

Which of the above statements is/are

correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

1. If 36 is an acute angle such that
sin 36 = cos 20, then the measurement

of € in radian equals to I%

2. One radian is the angle subtended at
the centre of a circle by an arc of the
same circle whose length is equal to
the diameter of that circle.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

From an aeroplane above a straight road
the angles of depression of two positions
at a distance 20 m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is :

(@ 1043 m
® 103-1) m

() 10(/3+1) m
(d 20m

47.

48.

49,

50.

Consider the following statements :

1. There exists no triangle ABC for
which sin A + sin B = sin C.

2. If the angles of a triangle are in the
ratio 1 : 2 : 3, then its sides will be
in the ratio 1: /3 : 2.

Which of the‘above statements is/are
correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

1. " sin| x|+ cos|x|is always positive.
2. sin{x?) + cos(x?) is always positive.
Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

l+sinA 1-sinA
1-sinA l+sinA
(a) sec A—tan A

(b) 2sec A.tan A

(c) 4secA.tan A

(d) 4 cosec A . cot A

What is equal to ?

cot 224° —cot 134°
cot 226° + cot 316°
(a) ~cosec 88°
(b) —cosec 2°
(c) —cosec 44°

What is equal to ?

(d} -—cosec 46°

(Contd.)



44,

: . |
1. n sin267-1— —sin222—1-
2 -2

45.

46.

Fr=ffaa sa W) e #ife .
- 0
]>1,H?~'ﬁ

H’[Tﬁﬁné2%ﬁrﬁl
2. IR x A2 g9wHe IRF @ g,
@ @ff gTeRs Uisl n> 2% fd

nx > 11 .
Sue oA ¥ RAa/d e /2 7
(a) 3T 1
(b) dad 2
(c) 13 27
(d T a1, T &2

freafofem w9l o e fifa

1 R O30T T oA ww 2 f&

sin 30 = cos 20, @ & &1 Wema A

(¢) 13X 2 =Y.
@ Fd/L,T &2
W W 95F B FI TF B4y W
S WEE W 20 m §EF A TEAI
FETHT FW 30° AT 45° Ufdm fee

?W%mmﬁmaﬁﬁﬁ
?

(a)
()
(c)
d)

q

@
SIS
1

1043 m
10(+3~1) m

10(3+1) m
20 m

47.

48.

49,

50.

Frafafan sa 1t fame T

1. W@ = Be ABC &1 Iftaca 74
gl s o sinA+sinB=sin C
B

2. R Bl B & A 12

yu & & & IEA e 1 J_ 2
& sgoa #
avgﬁmﬁﬁﬂwﬁﬂﬂ%/??
(a) Fad |
(b)y a7 2
(¢) 13 2q=f
(@ T W1, TH2

Preaffa woet ot fEm @R

1. sin|x |+ cos|x |%¢d gA™HS BIAT
Bl

2. sin(x?) + cos(x?) €4 GARA® BT
A

IrgE wEA A B/ w3/ °

(@) *ad 1

(b) *ad 2

(c) 13T 2@t

(d a1, 7 &2

l+sinA 1-sinA
I-sinA 1+sinA
(a). sec A —tan A
(b) 2sec A.tan A
(c) 4secA.tan A
(d) 4 cosec A . cot A

e g 2 7

cot 224° —cot 134°
¢cot 226° + cot 316°
(a) —cosec 88°

e e 3 7

. (b) —cosec 2°

{c) —cosec 44°
(d) —cosec 46°
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51

52

53.

54.

. 55.

- (b)

Consider the following statements :

1. tan 1 + tan™' (0.5) = n/2

2. sin' (1/3) + cos™ (1/3) = n/2
Which of the above statements is/are
correct 7 °

(a) 1 only

(b) 2 only

(c} Both 1 and 2

(d) Neither 1 nor 2

If A+ B + C = &, then what is
cos(A + B) + cos C equal to ?

(@ ¢

(b) 2 cos C

(c) cos C - sin C

(d) 2sin C

What is cos 20° + cos 100° + cos 140°
equal to ?

(a) 2

®) 1

(c) 12

d) 0

What is sin! sin 3?1‘ equal to ?
3n

B

0

B

T

(a)

oo

(b)

© 3
(d) None of the above

What is sin’(3m) + cos?(4m) + tan®(5w)
equal to ?

(2)

(c)
(d

O N =~

60.

56.

37.

58.

39.

Con31der the followmg pomts

1. (0, 5)
2. (2, -1)
3. (3, -4)

Which of the above lie on the hne3x+y 5
and at a distance J_ from (1, 2) 7
(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) 1,2 and3

What is the equation of the line through
(1, 2) so that the segment of the line
intercepted between the axes is bisected
at this point ?

(@) 2x-y=4
(b) 2x-y+4=0
(c) 2x+y=4

d 2x+y+4=0

What is the equation of straight line passing
through the point (4, 3) and making equal
intercepts on the coordinate axes ?

(a) x+ty=7
(b) 3x+4y=7
(e} x-y=1

(d) None of the above

What is the equation of the line midway
between the lines 3x — 4y + 12 = 0 and
3x-4y=67

(a) 3x-4y-9=90

(b) 3x -4y +9=0

(€} 3x-4y~-3=90

(d) 3x-4y+3 =0

What is the sum of the major and minor
axes of the ellipse whose eccentricity
is 4/5 and length of latus rectum is
14.4 unit ?

(a) 32 unit
(b) 48 unit
(¢} 64 unit
(d) None of the above

(Contd.)



51

52.

53.

54

5_5'.

Frfofag Fat W Rer iR

1. tan? 1 + tan™ (0.5) = n/2

2. sin™ (1/3) + cos™ (1/3) = n/2
S wu F AEA w38 7
(a) Had 1

(b) Fae 2

(¢) 13T 23

@ TF@L,ATA2

T A+ B+ C=mna cos(A+B)+cos C
fred qew 2 7

(a) 0

(b} 2 cos C

() cos C-sin C

(d) 2sinC

cos 20° + cos 100° + cos 140° Fred gea
37

(a) 2

) 1

© 172

(d) 0

3n
sin”! sin =~ frad gea 2 7

(d Sgw ¥ ¥ | T8

sin¥(3n) + cos¥(4m) + tan?(Sn) fhew Tex
27

(@ 0

) 1

() 2
@ 3

56.

57.

58.

59.

g (1, 2) & ToA ar WX

. S9

frefofea fogell X fme Ak .

1. (0,5

2. (2,-))

3. (3,-4)

Iua #  FE/H, @ I +y=5 W
M A,2)F o W TH W IR 7
(a) Faa 1

(b) ®aa 2 .

(c) Pad 1 AT 2

(d 1,233

*I,
Kl
?

oo ol & 9 Fed ae @
fig w i &, sdE=o @
(a) 2x -y=4

(b) 2x—y+4=0

(¢) 2x+y=4

(d 2x+y+4=0

g 4,3)F ™ Tl R P asl
TR SUET AAES T Al T B ahy
w8 7 -

(a) x+ty=7

(b) 3x +4y =7

() x-y=1

(d I ¥ § = T

3% — 4y + 12 = 0 30X 3x — 4y = 6 @R
& Wy W (@ H FHIH TR ?
() 3x—-4y-9=0

(b) 3x -4y +9=0

(¢©) 3x-4y-3=0

@ 3x-4y+3=0

dHga 71, Rl IaT 4/5 8 R
Tt N daR 144 R 8, 9 I
g &l w AW R\ B 7

(a) 32 T3

(b) 48 T

(c) 64 778

(@ SHw & § FE T

S
¢
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For the next three (03) items that follow :
A straight line passes through (1, ~2, 3) and
perpendicular to the plane 2x + 3y -z = 7.

61. What are the direction ratios of normal
to plane ?

(@) <2,3,-1>

(b <2,3,1>

(¢) <-1,2,3>

(d) None of the above

Where does the line meet the plane ?
(a) (2,3,-1)
() (1,2,3)
) 2,1,3)
d G, 1,2)

What is the image of the point (1, -2, 3)
in the plane ?

@ (2 -1,5)

) (-1,2,-3)

© (5,41

(d) None of the above

62.

63.

For the next two (02) items that follow :
Consider the spheres x* + y? + 22 — 4y + 3 = 0
and X2+ y?+ 22+ 2x + 4z - 4 = (.
64. What is the distance between the centres
of the two spheres ?
(a) 5 unit
(b) 4 unit
{c) 3 unit
(d) 2 unit

65. Consider the following statements :

1. The two spheres intersect each other.

2. The radius of first sphere is less than
that of second sphere.

Which of the above statements is/aré
correct ? :

(a) 1 only

() 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

For the next three (03) items that follow :

.The vertices of a triangle ABC are A(2, 3, 1),

B(-2, 2, 0) and C(0, 1, -1).
66. What is the cosine of angle ABC ?

1
(a) Vel
]
b 7
2
() 76

(d) None of the above

67. What is the area of the triangle ?
(@) 62 square unit |
(b) 3ﬁ square unit

(¢) 1043 square unit

(d) None of the above

68. What is the magnitude of the line joining

mid points of the sides AC and BC ?
R
(a) N unit
(b) 1 unit
R B
{c) N5 unit
(d) 2 unit

For the next two (02) items that follow :

Consider the vectors a=i-2j+k and

b=41-4j+7k.
69. What is the scalar projection of @ on
b ?
(@) 1
(b) 19/9
(c) 17/9
(d) 23/9
(Contd.)



A S AT T (03) wewwr * g .
TF g @ (1, -2, 3) ¥ el 8 e s
2x +3y—z=79C #q |
61. waa W AT & Re-aqua = & 7
(@ <2,3,-1>
® <2,3,1>
() <-1,2,3>
() svfwm ¥ 9 wE T

62. (@ THGA YT HB fAerdt B 7
(@ @ 3,-1D
(® (1,2, 3)
) 2,1,3)
d G, 1,2

R (1, -2, 3) o e o wialig 77 8 7
(@ 2,-1,5)

(b) (-1, 2, -3)

() 5.4, 1)

C(d) swfFm ¥ ¥ FE A

AN I A A 02) TE @ fora .
XX+y +z2—4y+3 =03
XX+y+zZ2+2x+4z -4 =0 W AR
FIfr | |
64. T WA H By d A= g FWE ?

(a) 5 @13

(b) 4 @R

(c) 3T

d) 2=

65. Preafafes st ar e ffm .
1. 9T M 9EIR wred B |

2. wuH T w B gEt e & e
¥ 0 2

Suda FuAl W owE/R S 2/8 7
(a) ad 1

(b) Fad 2

(c) 13X 277

(d 3@, T2

63.

qO 7w A A= (03) v ® fag

B ABC & ¥t A(2, 3, 1), B(-2, 2, 0) 3R
C, 1, -1) 21

66. T ABC & wivar Fa7 8 7
, 1 ,
(a)

(b)

e Sl- &

(c)
(d) = ® ¥ F
B w1 &awd Fur g 7
(a) 62 T TR
(®) 342 T @R
© 10V3 T TR
(@ s ¥ § Ff T

gl AC 9 BC & W Rrgdh @ g
arell @ F wRE© A g ?

67.

68.

(@) -};a«wﬁ
(b) 11
© %ﬁﬁ
(d 2R
FIX AT F A (02) WEAEY F fow

afRw 5=]_2j+k I b=4i-4j+7k WRAER

T | |
69. @ b U aRm RSy T & 7

(a) 1

(b) 19/9
(c) 17/9
(&) 23/9
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70. What is the vector perpendicular to both

+ ore 9 74. What is the angle between (+b) and
e vectors 7

s - oA a-b) ?
(@) -10i-3j+4k @ )
s A T
(b) —10i+3j+4k @ 3
{€) 10i-3j+4k x
(d) None of the above ®) 3
For the next two (02) items that follow : () T
Let a vector T make angles 60° 30° with x 6 7
‘and y-axes respectively. (d). None of the above
71. What angle does T make with z-axis ? i )
@ 30° 75. A line passes through the points (6, -7, ~1)
(b) 60° and (2, -3, 1). What are the direction ratios
© 90 - ‘ of the line ?
@ 120 @ <4425
72. What are the direction cosines of T ? (b) <4,4,2>
A © <-4,4,2>
(a) <§’—“’ > | d <2,1,1>
1 43 L (1+x)" -1 |
b). {5250 76. What is lim ~——1 " equal to ?
(b) <2 2 > atis lim " equal to
1.1 @ 0
s s 0 {
o (&% o
' (€) n
1 43 o (d n-1
@ \"7 |
. 77. What is lim —— equal to ?
For the next two (02) items that follow : x=0 V1-cosx
Let [a]=7, |b|=11, |a+b|=10V3 @ V2
73. What is [3-b| equal to ? | ® -2
1 .
(@) 242 (<) 7—'2— .
(b; 52\/5 (d) Limit does not exist
(c . .
(d 10

18 : (Contd.)



70. A wRe W wRw dq ww F 7
(a) —10i-3j+4k
(b) —10i+3j+4k
(€) 10i-3j+4k
@) vugsm ¥ § * A€
F I T@ A (02) W & R

A WA ERw T, x 3T y-ue & s

60°, 30° BV FAET 2|
71, F, -8 § B @ awar 27
(@) 30°
(b) 60°
) 90°
@ 120°

72. F 4 Re g ¥ 2

J SR T DX (02) Wt *
W AR 5)=7, |BI=11, |3+b|=10V3
73. |a-b| Bws gem @ 7

@ 22

®) 2410

(c) 5
(d) 10

74.

75.

@+5) I G-b) & f ww 7w 2 7

T
@ 3

(b)

T
(c) 5
d) TR ¥ ¥ T A

T X, (6,7, -1) M (2, -3, 1) Righ &
W ERRE LG ﬁﬁ\—sritna T ¥ ?
(@ <4,-4,2>

(b) <4,4,2>

(c) <-4,4,2>

| @ <2,1,1>

76.

77.

Y 1
fim 4% -1
x—=0 X

(@ 0
(b) 1
(¢) n
(d n-1

e gew 2 7

lim
x—0

1-cosx e g # 7
(@) 2

® -2

(c) '\/%'

(d) ¥ = e w# @
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: l+cosx
78. What is the derivative of

82. What is the solution of gl.uyﬂ

l-cosx X
(@) o2 X satisfying y(0) = 0 ?
2 2 _ o
1 7 X . |
~—cosec” — a =
(b) 5 2 | (@ vy >
2 X
(¢) —cosec” — 1+e"2"
| 2 () y=
(d) None of the above 2
() y=1+e
-1
tan 'x X
79. What is ji—% equal to 7 @ y=1t¢
0 1+x 2
z For the next two (02) items that follow :
(@ e*-l Consider the curve y = e,
®) e% +1 | 83. What is the slope of the tangent to the
1 ( curve at (0, 1) ?
(C) € - (a) 0
@ e by 1
80. What is the slope of the tangent to the (c) 2
curve y = sin”! (sin? x) at x = 0 ? @ 4
a) 0 :
Eb; i 84. Where does the tangent to the curve at
© 2 (0, 1) meet the x-axis ?
c
(d) None of the above . @ (.0
' (b) (2, 0)
| &y © 172, 0)
81. The solution of E;=|X| is : (@ 12,0
x|x]| For the next two (02) items that follow :
(a) Y—T
2 42
x| Consider an ellipse =+ =1.
(b) Y=-2—+C : a“ b
5 85. What is the area of the greatest rectangle
(c) y=§—+c that can be inscribed in the ellipse ?
| 23 (2) ab
(d) }’=§—+C (b) 2ab
2 (c) ab/2
where ¢ is an arbitrary constant (d) Vab

20 (Contd.)



78.

79.

-80.

81.

l1+cosx
1-cosx

@) Lsec?X
@ 3 >

FT JThAS HT B 7

-—l (:OSB(.‘»2 i |

(c) -—cosec2 %

d) SofE # ¥ P

! tan]xdx

E

0

ﬁm%g—u%?

1+x

I
(@) e -1

R
(b) e4+1
() e-1
(d) e

x =09 T y=sin” (sin? x) & FEH AN
vaurat F41 8 ?

(a) 0

() 1

(c) 2

@) Iw ¥ & F A

L -

dx
x| x|

(a) y=—-FC

2

(b) y—m
2.

X
Y 5

(c)

——£3-+c
Y 2

(d)

w8 ¢ TF @8 AW B

82. y(0) = 0§ FW TV g—y+2y=l 1 &
X

T g 7

(a) y=1_;_2x
b) y=”;_2x
(¢} y=1+¢
() y=1+26x-

I FX T B (02) v & faw .
aF y=e» W AR A
83. (O, I)Wﬁ%mﬁaﬁwmw%?
(@ 0
(b) 1
(¢) 2
@ 4

84. (0, 1) T aF F1 wyufl x-ste7 qT F@l e
g7 '

(@ (1,0)

() 2, 0)

() (-1/2, 0)

(d) (172, 0)

A Sy A (02) yere F
2 2

ffq 5+ 05 =1 W R R

a’ b®
85, dnfgw ¥ € o1 WA A WETH T AT
F AAFA FT OB 7
(a) ab
{b) 2ab
(c¢) ab/2

@. Vab
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86. What is the area included between the

ellipse and the greatest rectangle inscribed
in the ellipse ?

(a) ab(m - 1)

(b) 2ab(m - 1)

(c) ab(m-2)

(d) None of the above

For the next two (02) items that follow :
Consider the integrals

x 1

_]‘ dx ~sin x dx

= | ————=and | —I .
J 1++/tan x vsin x ++/cos x

6

87. What is [ -1 equal to ?

88.

(@ 0
(b) 21,
(©) =
(d) None of the above

What is I, equal to ?
(a) n/24
(b) n/18
(c) w12
(@) n/6

For the next two (02) items that follow :

Consider the function f(x)=

—sinx
(rn— 2x)

. i i
*— — |=
where X 3 and f(zJ A

89.

Iim

What is x 100 equal to ?

Xedm
2

(a) 1

(b)Y 12

© 14
(d) 1/8

90.

01.

92.

93.

94.

What is the value of A if the function is .

continuous at X=g ?

(a) 1/8

(b) 1/4

© 172

(d) 1

If f{9) =
) f(x
lim

X—9 -J_ 3

(a) 36

(b) 9

(c) 4

(d) None of the above

9 and f'(9) = 4 then what is

equal to ?

z
2
What is Ixsin xdx equal to ?
I
@0 °
(b) 2
() -2
(d =n

What is the general solution of the
differential equation x dy ~y dx = y? ?
(@ x=cy

() y¥=cx

{¢) x+xy—-¢cy=20

(d) None of the above

where ¢ is an arbitrary constant

Consider the following statements :

1. The function f (x)=§/§ is continuous
at all x except at x = 0,

2. The function f(x) = [x] is continuous
at X = 2,99 where [.] is the bracket
function.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Bothland2

(d) Neither 1 nor 2 :
{Contd.)



86. ddg s ddgw
@ st o B 87

(a) ab(m -1)
(b) 2ab(m - 1)
(c) ab(m - 2)
() IR A ¥ e T

AN AR I R (02) v F g e
YATHAA]

¥ @9 T qEaw e

I
3 "
AT I =j‘ +sin x dx
n
6

88. 1

F A A R (02) weEn F forg .
e

l1-sinx
(n ~2x)?
fam fifkw)

li“_f()%a%g—q%?
2

(@ 1
(b) 1/2
(c) 1/4
d) 1/8

f(x)=

89.

Jsin x ++/cos X’

“ Tt m
#£— AT f] = [=A W
, Bl X zaﬂt [2)

90.

91.

92.

93.

ufe &, X=g‘=l'{ﬂ'?rﬂ%a’f AT AN
T 8 7

(a) 1/8

(b) 1/4

(c) 112

(d) 1

MR f(9) =9 A f(9) =4, lim V) =3

9 Wx-3
s qoa 2 7
(a) 36
(b) 9
(c) 4
(@ S ¥ ¥ % T .

xsin xdx fogd T R

N|:| L ]

(@ 0
(b) 2
(¢) -2
d =

aammﬂw;cdy y dx = y? T <9

B T 8 7

(@ x=cy

(b) y? =.cx

(¢) x+txy—-cy=0

() Swfw H ¥ FF
VBl ¢ T @e Iu] B

. Fefafes wo w RER AR

1. @A f(x)=3x,x=0$mﬁmmﬂ
X T &ad 2|

2. % f(x) = [x], x = 2.99 9T ®aq
&l [] FeF T 8 |

Is wut ¥ wer/w W@ 8/ 7

(a) s 1

(b) *Fad 2

(¢) 13T 2Q7

(d T @1, T 82
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95. Consider the following statements :

1. The function f(x) = | x | is not
differentiable at x = 1,

2. The function f(x) = e* is differentiable
at x = Q. _

Which of the above statements is/are

correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

96. Ifz=fo f(x) where f(x) = x2, then what

18 d_x-
(@ x>
(b) 2x3
(c) 4x°
d) 4x

equal to ?

- For the next two (02) items that follow :

2 —-—
Consider the function f(x) =XT_X._'ﬂ

X +x+1

97. What is the maximum value of the function 7'

(a) 172
() 1/3
(c) 2
@ 3

98. What is the minimum value of the function ?
(a) 112

(by 173

(c) 2

(d 3

For the next three (03) items that follow :
Let f(x) be a function defined in 1 £ x < o by

f(x)___{l—x forl<x <2

3)(—3(2 forx > 2.

99. Consider the following statements :
1. ~The function is continuous at every
point in the interval [1, «).
2. The function is differentiable at x = 1.5.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

100. What is the differentiable coefficient of

fix)atx =37
(@) 1

(b 2

(c) -1

d) -3

101. Consider the 'following statements :
- 1. 12 + 0) does not exist.
2. (2 - 0) does not exist.

Which of the above statements is/are
correct 7

(a) 1 only

() 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

b

2

What is J' In{tan X)dx equal to ?
0

(a) In2

(b) —In2

) 0 .

(d) None of the above

102,

(Contd.)



95. frafafae wuY w famme Hiftm

1. %A f(x)=| x|, x =19 J&qHeAT
R ,

2. WA f(x) = e, x = 0 W IFTFAAT
21

Srw FaA X AL o 8 ?

(a) Fad 1

(b) &ad 2

(¢) 13X 2 QY

d a@1, 7T E2

96. U z = f o f(x), W& f(x) = x2, @ gi—
fdedh gea 2 7
(@ x°
(b) 2x3
(c) 4x°
(d) 4x?

N AR I D (02) WEET * g

2
A f(x):"z—’Hl R e #ifkm )

X +x+1
97. ®elq ® AeHGH WA | g 7
@@ 172
®) 13
©) 2
) 3

98. ®A W gAGH A T 8 7
(a) 172
(b) 173

{c) 2
(d) 3

FE I -I@ o| (03) wee ¥ fi

AT MY 1 s x <o ® WA f(ix) @ R
gfng 2 fa .

f(x)___{wa ,

Ix-x 7

l<x<2a ol
x>2 &R

99. Peafafee oA w faw AR

I W, SidUd [1, o) #§ yelw f§6g w¥
qaq &1

2. W, x= 1.5 @RAAT B
SR FA ¥ FEE/A wd 28 7
(@ ®ag 1
(b) Fad 2 -
(c) 13T 23
(@ F &L T2

100. f(x) 1 x = 3 T IaherAg o0& 71 § 7
(@ 1
(b) 2
(c) -1
(d -3

101. Frafafa st w faa e -
1. 2+ 0) % sfaa T8 8
2. (2 - 0) %1 uftgea =& B
Iufe FAT A FE/d wd 28 7
(a) @ad ‘1
(b) I 2
(¢) 13T 2 3t
(d) Taty, T &2

i
2
102. [In(tan x)dx Rred gea 2 ?
0
.(a) In2
(b) -In2

(¢) 0
d v & ¥ F #
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For the next three (03) items that follow :

The general solution of the differential equation
(x!+x+1Ddy + (Y +y+ Ddx =0 is
(x+y+ 1) =A(l + Bx + Cy + Dxy) where B,
C and D are constants and A is parameter.
103. What is B equal to ?

(a) -1

(b) 1

(¢) 2

(d) None of the above

104. What is C equal to ?
(a) 1
(b -1
(c) 2
{(d) None of the above

105. What is D equal to ?

@) -1
b 1
€) -2

(d) None of the above

106. Consider the following statements :

1. The function f(x) = sin x decreases
on the interval (0, n/2).

2. The function f(x) = cos x increases
on the interval (0, n/2).

Which of the above statements is/are

correct ?

(a) 1 only

(®) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

107. What is the number of arbitrary constants
in the particular solution of differential
. equation of third order ?

(@ 0
() 1
() 2
(d 3

108. What is the equation of a curve passing
through (0, 1) .and whose differential
equation is given by dy = y tan x dx ?
(a) y=cosx

.(b) y=sinx
(¢) y=secx
(d) y = cosec x

109. Consider the following staternelnts in
respect of the differential .equation

2 .
d—1+cos[dyJ=0:
dx2 dx

1. The degree of the differential equation
is not defined.

2. The order of the differential equation
is 2.

Which of the above statements is/are

correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2 S

110. What is the equation of parabola whose
vertex is at (0, 0) and focus is at (0, -2) ?

(a) y»+8 =0
b) ¥-8x=0
) xX*+8y=0"
d) x2-8y=0

For the next four (04) items that follow :
Number X is randomly selected from the set
of odd numbers and Y is randomly selected
from the set of even numbers of the set
£1,2,3,4,5,6,7}. Let Z=(X + Y).
111, What-is P(Z = 5) equal to ?

(a) 1/2

(b) 1/3

(c) 1/4

(d) 1/6

112.'What is P(Z = 10) equal to ?
(@ 0
(b 172
©) 1/3
(d) 1/5

113. What is P(Z > 11) equal to ?
(a 0
(by 1/4
(c) 1/6
d 1/12

(Contd.)



mr I A A9 (03) A & fra
e FARW (k2 +x+ Dy + (P +y+ Ddx =0
FT AR B (x+y+1)=A(l + Bx +Cy + Dxy)
g2 W8l B,CaM DT 2 AT 21
103.B fres gow & 7

(a) -1

(b) 1

(¢) 2
(d) 39w ¥ ¥ B =
104.C Fred qeu 2 7

(@) 1
(b) -1

() 2 -

(d) Iz & ¥ Mg @
105.D P qew & 7

(a) -1

() 1 ,

() -2 -

(d) Wﬁﬂﬁﬁ@ﬁi?{lﬁ
- 106. TR Fuat ) AR IR .

1. %A f(x) = sin x, IG4A (0, n/2) W
FEATT 8| :

2. WAT f(x) = cos x, AT (0, n/2) T
|

qgA B
Stfe w9 § FAE/A w B8 7
(a) @I 1 -
(b) @ad 2
(©) 13 27
(@ 7T @1, T H2

107.998 Fife & yawped gl @ e
T R Weo 9 H e ¥ 7
(a) 0
(b 1
() 2
(d 3

108.(0, 1) § EA A I 1 GHIH0 e
g@ﬁﬂﬁﬂﬂdy-—-ytmxdx%,w
(a) y=cosx
(b) y=sinx
() y=secx
(d) y = cosec x

109. IEHa=  HHor

2
Ly voos( L]0 % ar ¥ Prove
dx dx

W’ﬁﬁﬁ?’l’(ﬂ'ﬁm

1. %Wmﬂwaﬁmﬁamﬁw&m
I

2. IIHAT GHIHEOT FI FfE 2 B

IF wAAl XN wFE/R w2/

AN :

(a) Fad 1

(b) Faa@ 2 |

(¢) 13T 2 QY

(d T @1, T 82

110. (0, 0) & ¥ R0, 2) W A I
TEAY F gHHOT 1§ 7
(a) -
(b)
(c)
(d)

y:+ 8x =10
vy -8 =0
xX+8y=0
xz—‘8y=0

A AR R (04) TEE 3 R

Wél,2,3,4,5,6,7}“§ﬁwm£%
SRR = : gem X it}
gomel & a9y 9§ Tﬁt : TS HeEml
Y21 @ Z=X+Y)I
1HL.PZ=5) 53 geu 2 7

(a) 112 I

(b) "1/3

C(c) 1/4
(d) 1/6

112.P(Z = 10) s qew 8 7
(@ 0 '
(b) 172
() 1/3
(d) 1/5

113.P(Z > 11) fvgs geg 8 7
(@ 0
(b) 1/4
(c) 1/6
(@ 1/12
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114. What is P(Z is the product of two prime
numbers) equal to-?

(@) 0
" (b) 172
(c) 1/4
(d) None of the above

For the next three (03) items that follow :

The number of telephone calls received in 245
successive one minute intervals at an exchange
is given below in the following frequency
distribution.

Number of
calls 0{172]3]4|5]617
Frequency |14{21(25[43|51(40[39112

115. What is the mean of the distribution ?
(a) 3.76
(b) 3.84
() 3.96
(d) 4.05

116. What is the median of the distribution ?
(a) 3.5
(b) 4
{c}) 4.5
@ 5

117. What is the mode of the distribution ?
(a) 3 :
(b) 4
(c) 5
(d) 6

For the next three (03) items that follow :

The mean and standard deviation olf 100 items -
are 50, 5 and that of 150 items are 40, 6
respectively.

118. What is the combined mean of all
250 items ?

(a) 43
(b) 44
(c) 45
(d) 46

119. What is the combined standard deviation
of all 250 items ?

(a) 7.1
(by 7.3
(¢} 7.5
(d 7.7

120. What is the variance of all the 250 items ?
(a) 50.6
(b) 533
(c) .55.6
(d) 59.3



114. P(Z . F9150 Feumsl 7 ot 2) fras
a8 7
(@) 0
(b) 1/2
(c) 1/4
@) SHw ¥ ¥ w1

FN I g W (03) wrAie & fag o

Y IR FeA N TR wEEw W 245

AT W e gl ¥ AR ST Fe
® e a Mg 2 .

Tt W '
T&T O|1]1213|415|6]|7
EIRCIEGIS 1412125143

115. 929 &1 dey =7 & 7
(a) 3.76
(b) 3.84
(c) 3.96
(&) 4.05

116. 8§27 9% wiitasr @1 & 7 .
(a) 3.5
(b) 4
() 4.5
d) 5

117.927 =1 g a1 & !
(@) 3
(b) 4
(€ 5
d 6

FA FW A qr (03) yrwE & forw .
100 wg} #1 Wiem A 7S fawe w50, 5
AT 150 9 F1 Aew AR AHE e wEm

40, 6 81 :

118. 88 250 WA = wyR e @ R 7
(a) 43
(b) 44
(©) 45
(d) 46

119. 7% 250 HY F1 §IG WS famaT w7
g,
@ 7.1
(b 7.3
{cy 7.5
@ 17

120. 9% 250 ®&Y &7 gELw @41 ® ?
(@) 50.6
(b) 53.3
(c) 55.6
(d) 59.3
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Note : English version of the instructions is printed on the front cover of this Booklet.




